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Instructions:
(i) All questions are compulsory
(i) Question no. 110 4 are obpeclive lype Total marks are 20
(iii) Question no. 5 to 7 carries 2 marks each. Word limit i1s 30 words
(iv) Question no. 8 10 10 carries 3 marks each. Word limit 18 75 words
fv) Question no. 11 to 15 carrres 4 marks each. Word imit1s 120 words
(vi) Question no. 16 to 18 carries 5 marks each. Word ismit is 150 words
{vii) Internal choice is given in questions from question no. 5 1o 18.
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(@) 6002 x10% b} 60.02 x 10°°

() 6.023x 107 d) 6.023x 10"
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(5) = et ¥ 80% F e 20% wEFA & a8 yewd @m -
(@) CeHs b) C:HOH
©) CiHe (d) CHC;
Choose the correct option-
(1) The Numencal value of mole is -
(@) 60.02x10” (b)  60.02 x 10
k) 6.023x10" (d)  6.023 x 10*

(2)

)

rss]

Behaviour of real gases is close to that of an ideal gases if -
{8) Temperature is low

fb) Pressure is high

(cy Low pressure & high temperature
() Gas is monoatomic

For a reversible process free energy change a1 equilibnum is -
@ More than zero b}  Less than zero
() Equalio 2er0 (d) One
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@ demh&wmaBW¢IWW Manufactuse of
$O will be maximum if - |
@ Temperature is increasod and pressure is decreased.
o) Temperature is decreased and pltﬂLlﬂ' ¥ Icreased
k) Temperature and peessure both are Increased.
() Temperature and pressure both are decreased
(5} A compound has 80% C and 20% H. then the compound is -

) CeHe ® C:HsOH

k) GHe (d CHCl
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Fill in the blanks -

(i) Molanty of pure wateris. ...

(i) S.1unit of surface tension is......

(i) Solution of acetic acd and sodium acetate is an example of ... ......._solution.
(iv) The reaction which has gain of electrons iscalled............... ................ .
(v} Kjeldahl's method is used for the esumationof.................... s e .
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(1) anfas (a) faoe fam

2) yaR (b) wifm

(3) W BT (c) v v

(4) P pm (d) IO ¥3 X n

(5) PAN (e) MgCOs. CaCO;s
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Law of distribution

Smog
Permanent effect

Empirical formula x n
MgCO».CaCOs
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I
wet In one word/sentence -

(1) What is De - Broglie's equation !

(2) What is electron aflinity of noble gases?

(3)  Give an example of state lunciion
(4) Write the formsula of Plavier of Panis,

{51 'What the hydnides of Buron are known ay

s/ v sfredy w &
What are limiting reagens”
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- Why HO» i called Amtichioe?
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What is the reason for hardness of water & how many types of hardness are there”

97) TLV.EPE @
whatisT.L. V.7
JYqr /OR
s oo w2
What is Acid Rain?
ug offeA & 3 % weT ) FEIY p)
Explain the hybndization in Acetylene molecule
3qT /OR

AR & MR W N, 30 F a0 EHE0)
Explain the formation of N> molecule on the basis of overlapping.
ey 4w ol aafes Ae 4 s g ()
t.  Write the difference between Real and Ideal gases.
SYET 1 OR
Wew orEr @ T & A @ avey - g alEe 20 WhEET )

Explain the deviation of gases from the ideal behaviour by Vander - Waals equation
7T A FR B § TR A SE agER gt 2wy B)
Lithium shows anomalous behaviour from the other members of its group. Why?
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What happens when -

(1) Magnestum is bumt 1n air

(3 Quicklime 1s heated with vilica.
(3) Chlorine peacts with slaked lime.
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Explain Hund's Rule with an example.

i) OFt @ aPfteam g a @
What is the Heisenberg's uncertainty principle?

Jog] L OR

(i) Sieas 1 frgr aoEmRy
Explain Aufbau’s principle.

(i) % # wew fegra aw &2
What is Planck's Quantum theory?

1} @ - e B om & T gw /AR T “

What are d - block elements? Write their main charactenstics.
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What do you understand by electronegativity of an clement? How it difters from electron
affinity? How does it vary in periodic table”

w3 B o R o A o SR (4 SR AR W A A
Give Hess's law of constant heat summation. Explain with an example.

a1 /OR
w0 5w o1 A Preava o & e oo A -

SH @+ ¢ (@) -+ Hel(g)
wet vded sRadT A H = - 92.3K mol”’
wih Rl AS =10k mol

298 K €19 wu1 TPy aR & B

Calculate the free eaergy change in the following reaction -
L, @)+ 0@ ~HOg

Where. enthalpy change & H = - 92.3 kJ o]

change A S = [0 k) mot’ a1 298 K at one atm.
! mﬁmﬂﬂmhﬂmwmﬁmmmm, “J

Explain baffer actioe o basic buffer soluton and exphain importance of buffer solution
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Explain -

(1) Common ion effect

(1) Bronsted - Lowry concept
ﬁmmmmﬁamﬁm/mﬁmmm.

Differentiate between electrophilic and nucleophilic reagents.
A / OR

IUPAC am fafn -
Wnite IUPAC names -
(1) CH,-CH,
| I
Ci Cl
(1) CH;=CH-CH:-CHO

(1) V\\
CH,
(iv) OH

@(i} Wian afifFrn am ¥
(i) STRERT T YUATEE B ILE wEa THAL |
(i) What is Redox Reaction?
(i) Explain oxidising and reducing agent with example.
JYdT /OR
(i) iRy FE@n J@ A -
() K:CrO:8Cr @
(2) Na3$:0:38 @
(i) @ ¥ F ¥ @ I
(i) Give the oxidation number -
() CinK:CnOn
(2) SiaNa$:0s
(i) Whatissalt bridge? Write its functions.
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Write short oges on -
()  Fullepene
(i) Zeolites

HYYL / OR
LS R G PR et men auan fafaw
What arc Boranes? Wite their properties and uses

818 7 A Ao weEmam @ angEY )

Explain the conformational isomerisny in ethane
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Write the chemical equation for the following reaction
() Wurnz reaction
() Fnedel - Crafts reaction
(i Dumas reaction
() Swarts reaction and

%
(v)  Sabaties and Sanderson’s reaction
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